



ชื่อ: _____

วันที่: _____ คะแนน: _____

$$\left(\left(\frac{1}{3}\right)^2 + \frac{1}{2}\right) \times \frac{3}{2} - \left(\frac{1}{4} - \frac{1}{6}\right)^2 =$$

$$\left(5 + \frac{1}{2}\right)^2 - \frac{1}{3} + 3^2 - \frac{1}{2} =$$

$$\left(2 - \frac{1}{5}\right)^2 - \frac{1}{3} + \frac{1}{2} - 4^2 =$$

$$\left(\frac{1}{3} - \left(\frac{3}{2}\right)^2\right) \times \frac{1}{2} + \left(\frac{1}{2} - \frac{1}{3}\right)^2 =$$

$$\left(\frac{2}{5} - \frac{1}{2}\right)^2 - \frac{3}{5}\left(\frac{1}{2} + \frac{1}{2}\right) =$$

$$\left(2 + \frac{3}{2}\right)^2 + \frac{1}{4} + 2^2 + \frac{3}{5} =$$

$$\left(\left(\frac{3}{5}\right)^2 + \frac{3}{5}\right) \times \frac{1}{2} - \left(\frac{3}{5} - \frac{1}{3}\right)^2 =$$

$$\left(5 + \frac{1}{6}\right)^2 + \frac{1}{4} - 4^2 - \frac{3}{2} =$$

$$\left(2 + \frac{3}{4}\right)^2 - \frac{2}{5} + \frac{1}{3} + 2^2 =$$

$$\left(\left(\frac{2}{3}\right)^2 - \frac{1}{5}\right) \times \frac{1}{5} - \left(\frac{1}{3} - \frac{2}{5}\right)^2 =$$



ชื่อ: _____

วันที่: _____ คะแนน: _____

$$\left(\left(\frac{1}{3}\right)^2 + \frac{1}{2}\right) \times \frac{3}{2} - \left(\frac{1}{4} - \frac{1}{6}\right)^2 = \frac{131}{144}$$

$$\left(5 + \frac{1}{2}\right)^2 - \frac{1}{3} + 3^2 - \frac{1}{2} = \frac{461}{12} = 38\frac{5}{12}$$

$$\left(2 - \frac{1}{5}\right)^2 - \frac{1}{3} + \frac{1}{2} - 4^2 = \left(-\frac{1889}{150}\right) = \left(-12\frac{89}{150}\right)$$

$$\left(\frac{1}{3} - \left(\frac{3}{2}\right)^2\right) \times \frac{1}{2} + \left(\frac{1}{2} - \frac{1}{3}\right)^2 = \left(-\frac{67}{72}\right)$$

$$\left(\frac{2}{5} - \frac{1}{2}\right)^2 - \frac{3}{5}\left(\frac{1}{2} + \frac{1}{2}\right) = \left(-\frac{59}{100}\right)$$

$$\left(2 + \frac{3}{2}\right)^2 + \frac{1}{4} + 2^2 + \frac{3}{5} = \frac{171}{10} = 17\frac{1}{10}$$

$$\left(\left(\frac{3}{5}\right)^2 + \frac{3}{5}\right) \times \frac{1}{2} - \left(\frac{3}{5} - \frac{1}{3}\right)^2 = \frac{92}{225}$$

$$\left(5 + \frac{1}{6}\right)^2 + \frac{1}{4} - 4^2 - \frac{3}{2} = \frac{85}{9} = 9\frac{4}{9}$$

$$\left(2 + \frac{3}{4}\right)^2 - \frac{2}{5} + \frac{1}{3} + 2^2 = \frac{2759}{240} = 11\frac{119}{240}$$

$$\left(\left(\frac{2}{3}\right)^2 - \frac{1}{5}\right) \times \frac{1}{5} - \left(\frac{1}{3} - \frac{2}{5}\right)^2 = \frac{2}{45}$$